- — R EEAWD & 20183 FEEEEETEE

FR30E4818 ~FR31F3A31H

(it = 1)
#B FHEE rEE FE-RE m#E
D e
1 SmMEEL
EABEMER 40,000 40,000 0
HNSRSMAR 250,000 489,000 239,000 | AsiEr% )
2 EWEHE
FmEAS - BEHE - BEE 1,290,000 2,134,380 -844,380
s s e
SHEMRS 0 0 1]
T EhEEESE - THE% 1,779,000 1,779,000 o|
SIGERNE - SRS 1,020,000 1,020,000 0
SMHEANFRERE 230,000 496,500 266,500 1 %2
4 EERA -
T (KB 177,000 30,824 146,176
BEXESE i 0 275410 275410
ERwE 0 0 0
WSS R 0 18,092 18092
AR R 0 40,000 ~40,000 -
53¢ YREDE 400,000 356,520 | 43,480
S o - R 16,000 0 16,000 -
Z DRI o '
T R
SHAA 0 0
RS - ] 3 3 o ]
RIS (A) 5,202,000 6,679,729 1,477,129
I &EER
1 HEf
(AR
T #5Fy T 1,216,000 1,673,491 457,491 )
HETBE o 0 0 T B
HH% 1475000 | 1,550,071 75,071 o
AEBE 2,691,000 3,223,562 _532,562 o
S i
 meTEn 52.000 152,715 ~100,715
BEERE 65,000 77,974 12,974 o ’
HERL - BN gra700 | 1,231,761 357,061 p%3
RISAE 432,000 | 198,190 233,810
REEREY 80,000 190,720 -110,720
2B 61,000 66,505 -5,505 -
EEER - 92,000 76,400 15,501
 mER ) 0 0 0
EHEE 108,000 131,441 23,441 o
fERHRR 140000 | 19700  -29700] N
 mEE 77,000 49,724 27.276
AR 0 600 600 =
T kmkm 0 580 -580
ZOUsHE 146,000 23,223 122,777 B
Z olpE et 2,127,700 2,369,542 -241,842
BRES 4,818,700 5,503,104 774,404




i —BHEEAVL T 2018FEEHAESE
Fai30E4A15~Fa31=3/318
({7 : /1)
BB FHE #rEH FH-RE E=
2 EBE
() AHE
REFX 0 15,000 -15,000
HEER 0 ol o
wHe 0 639 | 0
GRS 220,000 0 220,000
MEEE 220,000 15,639 204,361
Dz owEs . o
RETEE 10,000 15,572 5,572 )
BEERE 0 48,669 -48,669
ARSE - EHRE 5000 20,244 ~15,244 -
FIRIEFE 0 o 0 0 o T
LESER 10,000 6,436 3564]
suE o 10,200 02000
 ENEEn 0 5,000 5,000 T
FHeE 0 2,148 -2,148
EEE 0 0 0
fErER 0 To| 0
2Er 0 6,500 -6,500 -
AHAE 2,000 89,600 87,600
HHoKE o 0 ol
EAR., EERRUSESR 47,300 47.300 ) ST ——"
ZORME 40,000 51,112 11,112
FOSEE 114,300 302,781 -188,481 N
EBRF 334,300 318,420 15,880
QEBFAE) 5,153,000 5,911,524 758,524
HITESRE EHEEE(A) - (B) 768,205
SR T -142,197
TFASER TSR EE -626.008
W1:ERFE) 20I8FE SRRAE v v /L v vARs et AEREN. ELURLAGESY
M2 EREXR) 2019/3/10 BRHBLAESTER SRS FEARA, PIURLAGTESY
M3 BEAER) WAMBHER SERTRSL LT, DEETONES Y
LEDOBYHEEHY FH A,
20s5 8 g 2 J B

—BAREAWD D

B=

/?,\ 7f\ 9. f-\? }‘"E-




